\

() Vor Montage bitte Gebrauchsanleitung lesen!
Please read the instructions of use prior to
starting installation work!

(®) Priére de lire le mode d'emploi avant de
procéder au montage !

(D Prima del montaggio leggere per favore le
istruzioni per l'uso!

@ Lees voor de montage de gebruiksaanwijzing door

Przed przystapieniem do montazu przeczytaj
instrukcje uzytkowania!

—
aa]
N
N
=
=
~
N
n
(o]
o
~
N
(=]
(75
(@]
q—
iy
o




DSTD2/PDS2/V-DS2BTW

<\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\} A-5x70

A+@ -U5,3

I\\\\\\\\\\\\\\\\\\) D - M4 x 30

m) C - M4 x 10
) E - M4 x 16

B -M6x10

Ol F-Mm4

,_
L.

mmﬂ)H—M48xW

® . [T
|

17 mm |

N |
Installation on a plinth .
or raised tray edge ‘ ’4 S
Montage sur socle ou sur rebord ‘ |

de bac de douche surélevé
\
0 mm. - \

bodengleiche
Duschwanne

Installation with low profile \ |
shower tray at floor level ‘
Montage sur un bac de douche i ¥w
\

se trouvant au niveau du sol

7

N 1)
NN
H‘HH

®

Montage ohne
Duschwanne

\
|
Design level with floor 0 mm- ‘

without shower basin i §
" |

Montage au niveau du sol
sans bac de douche




DSTD2/PDS2/V-DS2BTW

DSTD2B0O/PDS2/V-DSZBTWBO



%@




Softclose

Einstellmdglichkeit
adjustment solution
ajustage solution

s Einstellméglichkeit = Einstellmdglichkeit Funktionstest
adjustment solution 1 adjustment solution function test.
ajustage solution ajustage solution fest de fonctionnement










DSTD2/PDS2/V-DS2BTW - L




DSTD2/PDS2/V-DS2BTW - R

|_
o
N
7P
o
1
=
S~~~
N
»»
(=
(a8
~
N
(=)
—
7P
(=)
#
~
o

PIN:
0000
O + => Ersatzteil / spare part / Piéce de rechange / Onderdeel / Cze$¢ zamienna / Parte di ricambio

Z-NR: 074 302 6-1 Sach-Nr: L 143 624  Stand:08/16




